(@) AsSY SUB—CABINET (CQ-1001) (D-2/2)

ITEM NO.

© 0~ ;LA W

101

201
202
203
204
205
206
207
208
209
210

PART NO.

CQ—1002
CQ-1003
CQ-1004
£Q-1005
CQ-1006
CQ-1007
CQ-1008
CQ-1009
CQ-1010
CQ-1011
CQ-1014
CQ-1016
€Q-1020
CQ—1021
€Q-1100
€Q-1200
CY-1007
CY-1009
CY-1015X
CY-1018
CY-1032
CY~1033
DP-1148X
DP-1167
105-0007
105—-0015
105—5041
123-0035
220—0136
220—5044—01
220~ 5045—01
220—5046—-91
2400097
AB-1145
CQ-1025
250—5119
CQ-1029
CQ-1030
CQ-1031
CQ-1032

6016076

000—0408-FS
000—0510-FS
010-0306—F
010-0408-F
051-0004
051-0005
059—0009
061-0010
069—0020
0690032

ne 1 000e

DESCRIPTION

STEEL CABINET

SERVICE DOOR

DOOR CASH BOX

CASH BOX

CHUTE

BRACKET

CORNER PROTECTOR
SIDE PROTECTOR LEFT
SIDE PROTECTOR RIGHT
MAT

PANEL LOWER BASE
LKG TNG LEFT

PANEL UPPER BASE
LOCKING BRACKET
ASSY FRONT PANEL
ASSY BILL & SP BASE
STOPPER BRKT

COIN CHUTE BRACKET
REJECT COVER

LKG TNG

REJECT LEVER
SHOULDER SCREW

LKG TNG

TNG LKG

ASSY COIN CHUTE BRKT
REJECT LEVER BRKT
UPPER COIN CHUTE
SHAFT

COIN CHUTE REJECT TYPE ¥100
MAG LOCK MASTER W/O KEYS i
KEY MASTER FOR 220-5044
MAG LOCK W/KEYS
ASSY REJECT BUTTON
ADJUST SCREW

FLOOR BASE

GRIP BAR

SIDE STICKER-A

SIDE STICKER-B

SIDE STICKER-C

SIDE STICKER-D

LEG ADJUSTER #32

M SCR PH W/FS M4x8

M SCR PH W/FS M5x10
S-TITE SCR PH W/F M3x6
S—TITE SCR PH W/F M4x8
FLG NUT M4 .

FLG NUT M5

HEX NUT M10 P=1.25

SPR WSHR M10

FLT WSHR M12

E RING 3.2mm

SPR WSHR M6

(® ASSY PWR SPLY (CQ-4000-01)

77T T 77777

® ®

@ @0 @&

of
4

of

(9

L ABERTFN

(D—-1/3)

P B S I3k

iyl
!
LI—TF

.
5=



